Contract 23-10 - Parking Lot Co	nstruction (#84	146349)				
Owner: Oshkosh WI, City of						
Solicitor: Oshkosh WI, City of						
Bid Opening: 05/01/2023 11:00	AM CDT					
					Vinton Construc	tion Company
					PO Box	x 137
					Two River,	WI 54241
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension
Section 1:		-				\$893,580.84
		Mobilization; complete as				
	1050	specified	Lump Sum	1.00	\$98,000.00	\$98,000.00
		Removing building				
		foundations; complete as				
	1103	specified	Linear Feet	100.00	\$0.01	\$1.00
		Removing curb and				
		gutter; complete as				
	1110	specified	Linear Feet	520.00	\$6.50	\$3,380.00
		Removing concrete and				
		asphalt sidewalk and				
		driveway; complete as				
	1120	specified	Square Feet	2,900.00	\$1.00	\$2,900.00
		Unclassified excavation;				
	1200	complete as specified	Cubic Yards	660.00	\$59.49	\$39,263.40
		Excavation special				
		(paving); complete as	_		***	***
	1220	specified	Tons	94.00	\$0.01	\$0.94
		Furnish and install				
		dumpster enclosure				
		(includes foundation;				
		concrete slab; walls; gates;				
		and all associated				
	10-0	materials and labor);		1.00	h4 (= 000 00	h4 / = 000 00
	1250	complete as specified	Lump Sum	1.00	\$165,000.00	\$165,000.00

Contract 23-10 - Parking Lot Co	nstruction (#84	146349)				
Owner: Oshkosh WI, City of						
Solicitor: Oshkosh WI, City of						
Bid Opening: 05/01/2023 11:00	AM CDT					
					Vinton Construc	tion Company
					PO Bo	
					Two River,	WI 54241
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension
		7" concrete pavement				
		HES; with 5" CABC and				
		grading; complete as				
	1303	specified	Square Yards	1,010.00	\$66.95	\$67,619.50
		Pavement ties; complete	1	,	·	
	1350	as specified	Each	16.00	\$10.00	\$160.00
		Drilled dowel bars; 1";				
	1352	complete as specified	Each	26.00	\$17.50	\$455.00
		Adjust manholes and				
		inlets; complete as				
	1360	specified	Each	12.00	\$450.00	\$5,400.00
		Turf restoration; complete				
	1370	as specified	Square Yards	2,100.00	\$13.75	\$28,875.00
		Cold weather covering				
		(concrete pavement) -				
		single visquine; complete				
	1380	as specified	Square Yards	300.00	\$0.01	\$3.00
		Cold weather covering				
		(concrete pavement) -				
		double visquine; complete				
	1382	as specified	Square Yards	300.00	\$0.01	\$3.00
		Cold weather covering				
		(concrete pavement) -				
		double visquine with 6"				
	1384	hay; complete as specified	Square Yards	300.00	\$0.01	\$3.00

Contract 23-10 - Parking Lot Co	nstruction (#84	46349)				
Owner: Oshkosh WI, City of						
Solicitor: Oshkosh WI, City of						
Bid Opening: 05/01/2023 11:00	AM CDT					
					Vinton Constru	2 0
					PO Bo	
					Two River	
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension
		Up-charge for late season				
		cold weather concrete				
		pavement; complete as				
	1390	specified	Cubic Yards	58.00	\$0.01	\$0.58
		12" radius curb with 6"				
		CABC and grading;				
	1410	complete as specified	Linear Feet	310.00	\$15.00	\$4,650.00
		18" concrete curb and				
		gutter removal and				
		replacement; including				
		sawing; pavement ties;				
		dowel bars; bond breaker;				
		integral curb and fine				
		grading; turf restoration;				
		and traffic control;				
	1428	complete as specified	Linear Feet	94.00	\$88.00	\$8,272.00
		30" curb and gutter; 7";				
		with 5" CABC and				
		grading; complete as				
	1440	specified	Linear Feet	414.00	\$59.30	\$24,550.20

Contract 23-10 - Parking Lot Co	nstruction (#84	146349)				
Owner: Oshkosh WI, City of						
Solicitor: Oshkosh WI, City of						
-						
Bid Opening: 05/01/2023 11:00	AM CDT					
					Vinton Constru	ction Company
					PO Bo	ox 137
					Two River,	, WI 54241
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension
		30" concrete curb and		-		
		gutter removal and				
		replacement; including				
		sawing; pavement ties;				
		dowel bars; bond breaker;				
		integral curb and fine				
		grading; turf restoration;				
		and traffic control;				
	1448	complete as specified	Linear Feet	63.00	\$88.00	\$5,544.00
		4" concrete sidewalk with				
		3" CABC and grading;				
	1500	complete as specified	Square Feet	1,240.00	\$11.25	\$13,950.00
		6" concrete sidewalk/				
		driveway/ramp with 3"				
		CABC and grading;				
	1510	complete as specified	Square Feet	82.00	\$12.25	\$1,004.50
		6" concrete sidewalk/				
		driveway/ramp with false				
		curb; 3" CABC; and				
		grading; complete as				
	1516	specified	Square Feet	224.00	\$12.25	\$2,744.00
		8" concrete sidewalk/				
		driveway/ramp (HES)				
		with 3" CABC and				
		grading; complete as				
	1524	specified	Square Feet	2,180.00	\$10.25	\$22,345.00

Contract 23-10 - Parking Lot Co	onstruction (#84	146349)				
Owner: Oshkosh WI, City of						
Solicitor: Oshkosh WI, City of						
Bid Opening: 05/01/2023 11:00	AM CDT					
					Vinton Constructi	on Company
					PO Box	137
					Two River, W	VI 54241
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension
		Curb ramp detectable		,		
		warning field (natural/non-				
		painted); complete as				
	1540	specified	Square Feet	40.00	\$45.00	\$1,800.00
		Drilled No. 4 sidewalk tie	- 1		,	, ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,
		bars - deformed; epoxy-				
		coated; complete as				
	1560	specified	Each	21.00	\$8.00	\$168.00
		Cold weather covering				
		(sidewalk) - single				
		visquine; complete as				
	1580	specified	Square Feet	1,100.00	\$0.01	\$11.00
		Cold weather covering	1	,		·
		(sidewalk) - double				
		visquine; complete as				
	1582	specified	Square Feet	1,100.00	\$0.01	\$11.00
		Cold weather covering	*			
		(sidewalk) - double				
		visquine with 6" hay;				
	1584	complete as specified	Square Feet	1,100.00	\$0.01	\$11.00
		Up-charge for late season				
		cold weather concrete				
		sidewalk; complete as				
	1590	specified	Cubic Yards	22.00	\$0.01	\$0.22
		Locate existing property				
		monuments; complete as				
	1650	specified	Each	1.00	\$500.00	\$500.00

Contract 23-10 - Parking Lot Co	onstruction (#84	146349)				
Owner: Oshkosh WI, City of						
Solicitor: Oshkosh WI, City of						
Bid Opening: 05/01/2023 11:00	AM CDT					
					Vinton Construc	tion Company
					PO Box	_ ,
					Two River,	WI 54241
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension
		Replace existing property		~ ,		
		monuments; complete as				
	1652	specified	Each	1.00	\$100.00	\$100.00
		Sawing existing			4	4
		pavement; complete as				
	1700	specified	Linear Feet	2,950.00	\$3.00	\$8,850.00
		Sawing concrete		,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	7 - 1 - 1	4-7
		pavement full depth;				
	1710	complete as specified	Linear Feet	35.00	\$3.00	\$105.00
	1, 10	Base aggregate dense; 3/4";	Zinteur T eet	22.00	φείου	Ψ100100
	1800	complete as specified	Tons	11.00	\$111.00	\$1,221.00
		Base aggregate dense; 1-			4	¥-/
	1801	1/4"; complete as specified	Tons	550.00	\$29.14	\$16,027.00
		Tack coat; complete as			1	1 -7-
	1900	specified	Gallons	880.00	\$3.44	\$3,027.20
		HMA Pavement LT;			·	. ,
	1901	complete as specified	Tons	1,450.00	\$90.60	\$131,370.00
		HMA cold weather		,	1	7 - 7
		paving; complete as				
	1903	specified	Tons	390.00	\$11.00	\$4,290.00
		Asphaltic pavement				. ,
		milling; complete as				
	1950	specified	Square Yards	12,000.00	\$3.89	\$46,680.00
		Prepare foundation for	- 1	,	40.07	4 - 5,000100
		asphaltic paving (South				
		Park tennis courts lot);				
	1960A	complete as specified	Lump Sum	1.00	\$101.00	\$101.00

Contract 23-10 - Parking Lot Co	nstruction (#84	146349)				
Owner: Oshkosh WI, City of						
Solicitor: Oshkosh WI, City of						
Bid Opening: 05/01/2023 11:00	AM CDT					
					Vinton Construct	ion Company
					PO Box	137
					Two River, V	VI 54241
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension
		Prepare foundation for				
		asphaltic paving (24th				
		Avenue boat launch lot);				
	1960B	complete as specified	Lump Sum	1.00	\$8,434.00	\$8,434.00
		Prepare foundation for	1		,	,
		asphaltic paving (400				
		West Parking Lot);				
	1960C	complete as specified	Lump Sum	1.00	\$9,646.00	\$9,646.00
		Pavement markings;	1		,	. ,
		epoxy; 4" (white);				
	1974	complete as specified	Linear Feet	30,500.00	\$0.74	\$22,570.00
		Pavement markings;				·
		epoxy; 4" (yellow);				
	1975	complete as specified	Linear Feet	24,000.00	\$0.78	\$18,720.00
		Pavement markings;				
		epoxy; 8" (white);				
	1976	complete as specified	Linear Feet	590.00	\$4.40	\$2,596.00
		Pavement markings; cross-				
		walk epoxy; 6" (white);				
	1977	complete as specified	Linear Feet	260.00	\$16.50	\$4,290.00
		Pavement markings; stop-				
		line epoxy; 18" (white);				
	1978	complete as specified	Linear Feet	94.00	\$27.50	\$2,585.00
		Pavement markings;				
		arrow epoxy; Type 1				
		(white); complete as				
	1979	specified	Each	50.00	\$250.00	\$12,500.00

Contract 23-10 - Parking Lot Co	nstruction (#84	146349)				
Owner: Oshkosh WI, City of						
Solicitor: Oshkosh WI, City of						
,						
Bid Opening: 05/01/2023 11:00	AM CDT					
					Vinton Construc	tion Company
					PO Box	
					Two River,	WI 54241
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension
		Pavement markings;				
		arrow epoxy; Type 2				
		(white); complete as				
	1980	specified	Each	74.00	\$265.00	\$19,610.00
		Pavement markings;				
		epoxy; 12" diagonal				
		(yellow); complete as				
	1982	specified	Linear Feet	350.00	\$15.40	\$5,390.00
		Pavement markings;				
		word; epoxy (white);				
	1983	complete as specified	Each	3.00	\$440.00	\$1,320.00
		Pavement markings;				
		symbol; epoxy (white);				
	1984	complete as specified	Each	56.00	\$242.00	\$13,552.00
		Temporary pavement				
		markings; paint; 4"				
		(white); complete as				
	1985	specified	Linear Feet	4,500.00	\$0.66	\$2,970.00
		Remove pavement				
		markings (Fond du Lac				
		Road/South Main Street);	_			
	1986A	complete as specified	Lump Sum	1.00	\$20,000.00	\$20,000.00
		Remove pavement				
		markings (various				
	100 (B	locations); complete as			h < 0.22 22	44,222,22
	1986B	specified	Lump Sum	1.00	\$6,000.00	\$6,000.00

Contract 23-10 - Parking Lot Co	nstruction (#84	46349)				
Owner: Oshkosh WI, City of						
Solicitor: Oshkosh WI, City of						
Bid Opening: 05/01/2023 11:00	AM CDT					
					Vinton Constru	iction Company
					PO Bo	ox 137
					Two River	, WI 54241
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension
		Pavement markings;				
		railroad crossing; epoxy				
		(white); complete as				
	1988	specified	Lump Sum	1.00	\$3,000.00	\$3,000.00
		Furnish; install; maintain;				
		and remove Type D				
		modified inlet protection;				
	2508	complete as specified	Each	130.00	\$180.00	\$23,400.00
		Sediment removal - Type				
		D modified inlet				
		protection; complete as				
	2510	specified	Each	130.00	\$0.01	\$1.30
		Furnish; install; maintain;				
		and remove stone bag;				
	2516	complete as specified	Each	10.00	\$50.00	\$500.00
		Furnish; install; maintain;				
		and remove 20" diameter				
		sediment logs; complete as				
	2520	specified	Linear Feet	540.00	\$15.00	\$8,100.00
Bid Total:						\$893,580.84